@ 4x-4

Bx—-4)+(x+3)=3x-4+x+3
=4x-1




2. (Bx+2y-T)+(x-2y-3)=ax+by+cL W, a+b+c2 q2?

@+ @1 00 @ 2 ® 5

(bx+2y-7)+ (x—2y-3)
=bx+2y-T+x-2y-3

= 6x— 10

Wt a=6,b=0,c=-10°| 22
a+b+c=-4°]t},




3. (Bx-y+3)+Bx+2y-4)=ax+by+cd W, a+b+c2 F2?

®-4 ©@-2 04 @ 6 ®)s

B

(5x=y+3)+ (Bx+2y-4)
=5x—-y+3+3x+2y-4
=8x+y-1

2t a=8b=1c¢c=-19|B2
a+b+c=8°|t}.
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) = (5x = 2y) = 2x + y°lIl A (

) = (2x+y) + (5x - 2y)
=2x+y+5x—2y
=Tx-y




[ J=x-6y+2(2x-y)
=x—6y+4x—2y =5x— 8y
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2(1-2x%) = (x—4x?) =2-4x* - x+ 4 =2-x
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ALE b2t & uf, ab O] FhS Fstoizt.
=

>
[> pal= 6
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gx(lox —5)—2x(2x+1)
=2x% — x—4x% — 2x

= —2x% - 3x

sab=(-2)x (-3)=6
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10. o] 4 A o 242 + 3x— 55 Tollo} & AL BE5to] MY ol

3x2 = Tx + 6 7t E| Q). vF2A] A4 G2 oot

@ 5x2—4x+1 @ 5x2+4x-1 @ 7Tx24+x+4
@7x2—x—4 ® X2 +x-4

—€B ~
A-(2x>+3x-5)=3x2-Tx+6
A=3x2-Tx4+6+2x24+3x-5=5x2-4x+1

SHRE AR 5x? —4x+1+2x2 +3x-5

=Tx2—x-4




11, -2x(-2x + 3)2 7+eks] 51H?

@ 4x2 + 6x @ —4x® - 6x ((@élx2 —6x

@ —4x% + 6x ® 4x-6

(=2x) X (=2x) + (=2x) X 3 = 4x? — 6x
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3 Ao ¢ o] A%
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1
=x(10x - 5) - 2x(2x + 1)




13. x(5x-2) (6x3y — 12x%y) & ZtH5| St Alof|Af 2 2} 9] Al+E

1
6xy
a2t otal, 1 2 FO| A-E b2t T wll, ab o H2?

@o @ 4 ®@-4 @16 O -6

B ~

1

x(5x —2) (6x3y — 12x2y)

6x3y — 12x2y)
6xy

=5x% - 2x—x? 4+ 2x

= 4x?

w2t g =4, b=0°|2& ab=4x0=0 °|t}.

:5x2—2x—<
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20a?b + 4ab = 5 Xdax (=°l)
20ab + 4ab
(o)) = =2
2a
_ 20a*h | 4ab
T 2 2a
= 10ab + 2b
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(6x2y* — 4xy® + 3x%y — 5xy) + xy 5 1t
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> E.
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(6x%y? — 4xy? + 3x%y — Bxy) + xy
6x2v2 —4xy2  3x2 -5
= BT T (S T
Xy Xy Xy 2
=6xy—4y+3x-5
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A4t 5

L 6-443-5=0
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20a2b + 4ab = 3 % da x (E°I)

20a%b + 4ab
2a
_ 20a2b @
T 2 2a
= 10ab + 2b




19. a=-1,b=29% o, -3a+6b-3(b+2a) = AAtstolet.

—3a + 6b — 3(b + 2a)
= -3a+ 6b—-3b—-6a=-9a+ 3b
AL 5 —9x (-1)+3x2=9+6=15
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@O -3x+4
@—3x—4 ® -3x-3

y=2x-3 24, —7x 42y +2 5 x o] T

—Tx+2y4+2=-Tx+2(2x-3)+2
=-Tx+4x-6+2
=-3x—-4
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y=-2x-3 4w, 3x-y-5%5 xof T340 t}epifjoiat,
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3x—(-2x-3)-5=3x+2x+3—5=5x—2
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y=2x-3 4, —-7x+2y+2E x|
® -3x+4 @ 3x+4
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—Tx+2y+2=-7Tx+2(2x-3)+2
=-Tx+4x-6+2
=-3x-4
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3xy xy
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h + bh
s:(a+b)xh+2:a —;
25 = ah + bh
bh = 2s — ah

2s —ah  2s
b— h —E—a




25. 8x-2y+2=4dx-y-3 4 2x-3y+ 15 xof W Ao
e H?

D -10x+16 @)-10x-14 ® 12x+ 16

@ 10x-14 ® 10x-16

B ,
8x—2y+2=dx—y—30]B& y=dx+50|ch
2x—-3y+1=2x-3(4x+5)+1

=2x—-12x-15+1

=-10x-14




